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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
Part A 6362 17 3.7 27 63 99.9
Part B 6351 9.1 4 22 41.5 99.8
Part C 6309 4.8 1.9 11 43.6 99.1
SPaG 6313 2.3 0.9 4 56.9 99.2
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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 (ii) Suggest why one of these 
groups of people may be 
against the plan to retreat the 
line at Seaside Heights. 


Do not credit choice of group. 
 
Credit up to two valid statements 
each with one mark (to max 2). 
 


For either valid statement, credit a 
valid explanation/ development 
point for one additional mark (1+2 
or 2+1). 
 
Or credit one valid statement that 
is explained by a chain of 
reasoning (1+1+1). 


Home owner: 
 
Some homeowners will have to abandon 
their homes / lose their home / don't want 
to move (1) causing distress (1) splitting 
up communities (1) losing cultural 
heritage (1).  May move some distance 
away from their workplace (1) resulting in 
higher commuter costs (1) 
Spoil retirement plans (1) 
Cost of having to move (1) 
 
Town Council 
 
Pressure on Toms river as people move 
in (1) 
More demand for housing (1) 
Already spent money on coastal 
defences (1) 
May be concerned about loss of 
business / tourism (1) loss of jobs / 
incomes / taxes (1) 
 
 
Hotel Worker  
 
Lose jobs /income (1) lose business (1) 
struggle to find new work (1) have to 
travel to new job /area (1) Hotels may 
have to be abandoned (1) so workers 
may lose their jobs / struggle to find new 
work (1) 


 


3    3 
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Sticky Note

The candidate has given 2 simple points to gain 2 marks.  To improve their mark they would need to explain one of the points further. 












Sticky Note

Although the candidate has attempted to explain why homeowners wouldn't want their homes destroyed as a result of retreating the line, their answer is quite vague.  The second part of the answer about a 'sustainable future' is also vague.  The candidate could have improved their answer by giving an example of what they meant by a sustainable future. The candidate was awarded 1 mark. 












Sticky Note

The first sentence is irrelevant to the answer. 



Sticky Note

One mark has been awarded to this sentence as both points about losing their house and belongings are correct, although neither is explained. 



Sticky Note

This sentence was awarded 2 marks; one for the fact that they will have to move to a new area and the second mark for explaining that they will have to buy a new house as a result of moving. 
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 (ii) Suggest why one of these groups of people may be against the plan to retreat the 


line at Seaside Heights. [3]


  Group:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


  Why this group may be against the plan to retreat the line.
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Option 
3 (a) 


Study the information on page 8 of the separate Resource Folder.      


 (i) Describe how 
hard 
engineering 
protects the 
coastline from 
erosion and 
flooding. 


Credit up to two valid statements 
each with one mark (to max 2). 
 


For either valid statement, credit a 
valid explanation/ development point 
for one additional mark (1+2 or 2+1). 
 
Or credit one valid statement that is 
explained by a chain of reasoning 
(1+1+1). 
 
Be aware of students repeating the 
question i.e. sea wall / rock armour 
stops erosion / flooding. 


Wave energy is reduced by boulders (1) so 
hits coast with less force (1). 
 
Wave energy is reflected off sea wall (1) 
because wall is curved (1) 
 
Wall is high (1) so waves can't get over (1)  
 
rock armour breaks up waves (1) made of 
hard material / hard to erode (1) 
 
sea wall curved so waves broken up (1) and 
energy reduced (1) 


3    3 


 (ii) Suggest why 
the 
government of 
New Jersey 
may think it is 
not 
sustainable to 
protect 
Seaside 
Heights with a 
sea wall.  


Credit up to two valid statements 
each with one mark (to max 2). 
For each valid statement, credit a 
valid explanation/ development for 
one additional mark (2+2). 
Or one valid statement (1) and a 
second valid statement that is 
explained by a chain of reasoning 
(1+1+1). 
 
Max 3 if no reference to future / 
sustainability. 
 
Indicate reference to sustainability 
with an 'S' 


Hard defences need frequent repairs (1) 
which are expensive (1) so the government 
may not be able to afford them in future (1). 
 
Sea levels are rising / storms more frequent 
(1) so sea wall may not be high enough for 
all future floods (1) 
 
Expensive to build (1) Not attractive (1) 
Puts off tourists (1) reduces future income 
(1) strong storms still go over (1) expensive 
for small settlements (1) 
Long coastline to protect (1) so expensive 
(1) In future there may no longer be a large 
beach (1) so not as effective (1) 


2 2   4 
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Sticky Note

Although the candidate has referred to the material, they have not explained how this protects the coast from erosion.  Their answer about the sea wall protecting the coast from flooding was very simple and just worth one mark. 



Sticky Note

The candidate has made two simple points and been given one mark for each but neither has been explained sufficiently to gain further marks.  












Sticky Note

The candidate has successfully explained how the sea wall and rock armour work to protect the coastline from both flooding and the power of the waves. The candidate was awarded 2 marks. 



Sticky Note

The candidate has referenced the need to 'keep on maintaining' the sea wall and this is an acceptable reference to sustainability. 



Sticky Note

The candidate has given 2 reasons, both of which have been explained so they have gained full marks for this question. 












Sticky Note

One mark was awarded for describing that the sea walls deposit the waves back into the sea.  The rest of the answer does not describe how the rock armour protects the coast sufficiently to gain a mark. 



Sticky Note

The candidate has given 2 simple reasons why the government might not want to build a sea wall. The candidate was awarded 2 marks. 



Sticky Note

This sentence is not worth a mark as it is too vague.  The candidate would need to explain either that they cost a lot of money to build and/or are costly to maintain. 
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 Option 3: Hold the line using ‘hard’ engineering. A combination of rock armour and sea 
walls could be used to protect the resort of Seaside Heights.


 (a) Study the information on page 8 of the separate Resource Folder.


 (i) Describe how hard engineering protects the coastline from erosion and flooding.
 [3]


 


 


 


 


 


 


 (ii) Suggest why the government of New Jersey may think it is not sustainable to protect 
Seaside Heights with a sea wall. [4]


 


 


 


 


 


 


 


 


End of Part B
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Question. You should advise which option the state government of New Jersey should use to manage this coastline. 
 


3 7 1 4 15 


TOTAL for Unit 2B Foundation 19 24 17 4 64 
 


LEVEL DESCRIPTORS FOR PART C 


 Award 0 marks if the answer is incorrect or irrelevant. 


Level 1 
1-3 marks 


The candidate's response contains little specific detail about the area.  There is no elaboration beyond that provided directly by 
the sources.  
Communication is basic: there is little or no structure and/or ideas are communicated in brief statements/bullet points. 


Level 2 
4-7 marks 


 


The candidate's response contains some specific detail about the area and option.  There is elaboration of ideas beyond that 
provided by the sources. Information is communicated by brief statements.  There is a basic structure.  There is some accuracy of 
spelling, punctuation and grammar. 


Level 3 
8-11 marks 


The candidate presents a letter that considers the options in detail.  Different options are considered, along with the effects of 
each and a clearly explained decision is made. Communication is clear and logical. Spelling, punctuation and grammar have 
considerable accuracy.  


 


Performance descriptions spelling, punctuation and the accurate use of grammar 
 


0 Candidates do not reach the threshold performance outlined in the performance description below. 
Threshold 


performance 
1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the demands of the question. Any 
errors do not hinder meaning in the response. Where required, they use a limited range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of meaning in the context of 
the demands of the question. Where required, they use a good range of specialist terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of meaning in the context of 
the demands of the question. Where required, they use a wide range of specialist terms adeptly and with precision. 
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Sticky Note

The statements in the matrix are all lifted from the resource booklet and so only access level 1 marks.  







Sticky Note

The candidate is starting to elaborate on the fact taken from the resource booklet, but not sufficiently to access level 2 of the mark scheme.  To improve their mark, they could have explained why the expense of the sea walls outweighed the cost of damage to buildings and businesses. 







Sticky Note

Candidate has accessed level 2 by explaining that building and maintaining the sea wall allows people to remain living in this area.  They have also explained that the compensation money would be better spent on the sea wall rather than on moving people. 



Sticky Note

The candidate has accessed level 2 by comparing two of the options. 







Sticky Note

The candidate has referred to two of the three options and has elaborated some ideas about the Hard Engineering Option.  Because they have not explained any of the strengths and weaknesses of managed retreat, they cannot be said to have explained why their decision is the 'most' sustainable and therefore cannot access level 3 of the mark scheme. 












Sticky Note

This statement is explaining the benefits of the option and so accesses level 2 of the mark scheme.








Sticky Note

Candidate has started to explain the benefits to tourists of using the soft engineering options.   To improve their mark, they could have elaborated on this idea to suggest the possible benefits to local businesses. 







Sticky Note

None of these statements have been developed to access level 2.  They are mainly simple points, some of which have been lifted from the resource booklet or from the exam paper.  To access level 2 they could have explained the potential impact on tourists and/or businesses of the unattractiveness of the sea wall and rock armour. 



Sticky Note

These ideas are lifted from the resource booklet and are not developed so cannot access level 2.  To improve their mark, candidates could have suggested how these problems could be addressed, e.g. by fencing off the sand dunes or by providing clear pathways around the dunes.  They have suggested how the local residents would be affected by falling house prices or suggesting what their viewpoints might be. 
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Part C


You are advised to spend about 35 minutes on this part.


In this part you will advise the government of New Jersey which option is the most 
sustainable way to manage the coastline of New Jersey.


The options are:


Option 1: Retreat the line (also known as managed retreat).


Option 2: Hold the line using ‘soft’ engineering.


Option 3: Hold the line using ‘hard’ engineering.


Use the Factfile on page 9 of the separate Resource Folder to complete the following matrix to help 
you organise your ideas. One idea has been added to the matrix for you.


If you choose to use it, you should spend no more than 15 minutes completing the matrix.
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You should advise the state government of New Jersey about the most sustainable way to manage
its coastline at places like Seaside Heights.


Use the information in your matrix on page 10 to help you write your letter. You may also use
information from other parts of this paper as well as ideas of your own.


Marks for spelling, punctuation and the accurate use of grammar are allocated to this question.
 [11+4]


To the state government of New Jersey


I am writing to advise you to:


© WJEC CBAC Ltd.


I have chosen this option because


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


Tick (√)


Option 1: Retreat the line (also known as managed retreat).


Option 2: Hold the line using ‘soft’ engineering.


Option 3: Hold the line using ‘hard’ engineering.
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